



<b>Information, Pricing &amp; Resources</b>	<b>Pg No.</b>	<b>Detail</b>
Greeting Letter	1	A letter to you
Order Guide	2	Waitlist and information on This year's crop
	2	Contact Us
	2	Quick Read: How to order your garlic
	2	Questions, Inquiries & Correspondance
	2	Link to Order Registration Form
Varieties	3	Descriptions on each variety of garlic available!
Sizing Chart	4	Identify approximate equivalents between bulbs, pounds & cloves!
Pounds Needed: Automated Calculator	5	Not sure how many pounds you will need? Try our automated calculator!
Pricing: Shipping Included	6	Hardneck Garlic & Elephant Garlic
Pricing: Shipping Not Included	7	Hardneck Garlic & Elephant Garlic
Garlic Growing Tips	8	Garlic Growing Tips
Disclaimer	9	Before Purchasing Our Garlic, Please Read Through The Following Terms Of Purchase And Sale With August's Harvest Inc.
In Closing, Thank You!	10	Fun Facts: The scientific truth about garlic varieties
	10	Give us Feedback!
	10	Points of Contact: Staff available to you
<b>Links To Order Forms</b>		
Online Order Registration Form	Hit link to place your order or request a follow up on any inquiries you may have online!	
Order Registration Form	Hit link to open a PDF to order sheet. Fill out on your computer or by hand, send back to garlic@augustsharvest.com or fax to (519) 393 5556	



*Click Buttons above to jump to page or attachment*



A LETTER TO YOU

2019

GARLIC HARVEST



**Greetings!**

We are excited to connect with you again this year, to forward our 2019 "WE THE GARLIC" newsletter. The Raptors success helped ease the results of a winter that was difficult for garlic here in Southwestern Ontario. From what we hear from the garlic grapevine, the crop in our area will be short this year, and sizing may be down.

The snow fences we struggled to get up before winter were all worth the effort. The resulting snow cover provided enough protection for the garlic to produce a crop of exceptional quality, with specific varieties sizing larger or smaller depending on snow cover.

Our clean seed program continues to produce stronger and more robust garlic each year. We have added 5 additional meristem clean varieties accompanied by Music porcelain for future years: Meristem culture, Jachlo (purple stripe), Svea (marbled Purple stripe), Elephant garlic (the reeking leek), Legacy (a rocamboles), and Vitlock (a porcelain).

You will have access to clean seed from all the major hardneck categories. Please note: there is a limited supply of Clean-seed Music (porcelain) and 1st generation roundels. These are produced through our clean seed partnership program with the Northern Spud Unit and University of Guelph.

If you are interested in Virus and nematode free Roundels directly from the Lab, please send a request to us for more information.

At August's Harvest, a new generation of garlic growers, production, and business employees are making their mark! Reicza (my daughter) has stepped up to the plate taking on the role of General Manager, assisting us in a big way by streamlining administration and day-to-day operations with our office manager, Tamara. Brendan has joined us in the sales office, bringing fresh ideas and enthusiasm when it comes to growing our business. Roger and Andrew are getting the hang of the harvesting and planting machinery, and the results are showing. Matt (my nephew) is working steady in the greenhouse, growing our green and black garlic production. In the packing shed, Andrew, Chris, Bikram, the Susans', Darlene, and a host of other talented individuals are responsible for getting our garlic to you.

I would also like to give a shout out to Travis Kramner from the University of Guelph, Ron Evans from IRAP, and my fellow growers Felix, Jeff, Norm, Ian and Nathan - an exceptional group to be working with!

Thank you very much for your patronage over these 30 years! Your confidence and re-orders have allowed us to build this business, which we are so incredibly proud of! We appreciate it!

On Behalf of Team August's Harvest

Warren Ham



All words garlic-related can be exchanged through our toll-free number or email provided below

**AUGUST'S HARVEST | [GARLIC@AUGUSTSHARVEST.COM](mailto:GARLIC@AUGUSTSHARVEST.COM) | 1 877-272-1742 | ONTARIO**



August's Harvest ~ Garlic 2019

# ORDER GUIDE



## 2019 CROP & WAITLIST

This year is looking to be short on supply! The sooner you submit your requests to the waitlist, the more likely we can fulfill your order. Please remember that when you register your order with us this is not confirmation of sale. Confirmation will be in follow up correspondence.

## QUICK READ: HOW TO REQUEST YOUR GARLIC

**1** You can fill out registration form one of four ways:

- Online (Submit online)
- PDF (Email back)
- Print out PDF (Fill out, Scan and Email or Fax back)
- We can process your registration over the phone

**2** Wait for approval of your order request. Once your order has been confirmed by a member of our staff, we will hold your spot on the waitlist for 4 days if we do not hear back from you.

**3** Customer priority listed in order to ship first:

1. Customers who pay in full at time of order approval (Immediate Pmt)
2. Customers who make Down Payment at time of order approval (Pmt in Advance (30% Down))
3. Customers who pay 7 days prior to shipment of their order

**4** Shipping is arranged. When order gets out the door, you will receive notification via e-mail.

## CONTACT

-  1 (877) 272-1742
-  1 (519) 393-5556
-  [garlic@augustsharvest.com](mailto:garlic@augustsharvest.com)
-  Gads Hill, ON

\* \* \* \* \*

## QUESTIONS, INQUIRIES AND CORRESPONDANCE

We understand that everyone is chomping at the bit for garlic! Please keep in mind that the more time we dedicate to answering phone calls and email inquiries, the less time we have to prepare the orders we're sending to you. We kindly ask that you try to keep phonecalls and emails to a minimum and try using the provided resources and PDFs included in our 2018 catalogue as an alternative before contacting us via phone or email for questions. This being said, please do not hesitate to get in touch with us if you need help with something we may have missed!

Thank you for your patience and cooperation, we really appreciate it :)



## Variety Descriptions

<i>Strain</i>	<i>Variety</i>	<i>Description</i>
<b>California Elephant Garlic (5 Cloves)</b>	<b>Elephant Garlic</b>	Big – Bigger – Bigger yet – and biggest bulbs are not garlic but a leek. On average 5 cloves per head from what we bring in from California. A milder taste profile, which has been associated with roasting forever. Many of these bulbs grow 4 inches across in size.
<b>Marbled Purple Stripe (5-8 Cloves)</b>	<b>Svea</b>	A contender for best discovery for sure. Strong hot garlic, 5-8 cloves often with lots of red to purple colour on skin and clove wrappers, depending on the winter. Lots of fat cloves like Music and Norquay. The “chunky tuna” of the porcelain world. Thrives in cold climates; a great choice for those in cold winter areas. Easily produces on par with any porcelain.
<b>Porcelain (4-7 Cloves)</b>	<b>Music</b>	A very cold hardy plant, described as slightly spicy, with a porcelain fructose flavor. Here in “the idea of North” it is the most common, and essentially “The Staple” garlic variety. Easy to grow, it produces between 4 and 7 big-ass easy to peel cloves per bulb. Most years with shiny-white outer sheath and some pink to brown tinged clove skins, depending on the season.
	<b>Norquay</b>	Big Boy - Big Gurr! Garlic, with regards to neck size, plant size and bulb size. 4-7 larger cloves with mostly one in the middle extra. White skin, lighter to a light rose clove wrapper, and the porcelain high fructose flavor profile, with all the winter ready attributes of porcelains. Matches the tune of Music in every way.
<b>Purple Stripe (8-12 Cloves)</b>	<b>Jachlo</b>	Vigorous good sized robust intense purple bulbs, collected in Eastern Europe. Outer skins bursting with purple colour. The wrapped cloves retain the light chocolate - violet colouring of the outer wrappers. Flavour said to be fiery but with a mellow and smooth aftertaste. 8-12 cloves. Ready to rock through winter. Every year we grow a bit more! A contender for best yield.
<b>Rocamboles (8-12 Cloves)</b>	<b>Legacy</b>	Generally, it is said to make lips quiver more than other hard necks. The bulb will produce 3-4 larger white skinned clove among the 8-12 on the bulb. Depending on soil type a reddish brown, to purple brown clove skin underneath. Matures slightly at odds with porcelain, lower to the ground squatter plant.



# Sizing Chart

**\*\*Approximate\*\***

Size	Approx Bulb Diameter (mm)	Approx Bulb Diameter (inches)	Variety	# Of Cloves Per Bulb	# of Bulbs Per Lb	# Of Cloves Per LB
4	35-39 mm	1.37-1.57 in	Marbled Purple Stripe	7	20	140
			Porcelain	6	20	120
			Purple Stripe	9.5	20	190
			Rocamboles	10.5	20	210
5	40-44 mm	1.58-1.77 in	Marbled Purple Stripe	7	14	98
			Porcelain	6	14	84
			Purple Stripe	9.5	14	133
			Rocamboles	10.5	14	147
6	45-48 mm	1.78-1.86 in	Marbled Purple Stripe	7	11	77
			Porcelain	6	11	66
			Purple Stripe	9.5	11	104.5
			Rocamboles	10.5	11	115.5
7	49-51 mm	1.87-2 in	Marbled Purple Stripe	7	9	63
			Porcelain	6	9	54
			Purple Stripe	9.5	9	85.5
			Rocamboles	10.5	9	94.5
7.5	52-55 mm	2.1-2.16 in	Marbled Purple Stripe	7	7	49
			Porcelain	6	7	42
			Purple Stripe	9.5	7	66.5
			Rocamboles	10.5	7	73.5
8	56-60 mm	2.17-2.35 in	Marbled Purple Stripe	7	6	42
			Porcelain	6	6	36
			Purple Stripe	9.5	6	57
			Rocamboles	10.5	6	63
2-3ct			California Elephant Garlic	4-5ct	2-3ct	7.5-8.5



# Calculate the # of Pounds you will need!



## Instructions:

Highlighted Cells = Variables to find Approximate # of lbs you will need

Adjust yellow highlighted numbers accordingly, sheet will auto calculate your needs from there!

Steps	Linear Row Feet	Formula
Inches between Row		
Inches in a Foot		
# Of Row Per Foot = Inches in Foot divided by Inches between row		B6/B5
Width of Area in Feet		
# Of Rows on Field = Rows Per Foot multiplied by Width of Area in Feet		B7*B8
Length of Rows in Feet		
Linear Feet = # Of Row multiplied by Length of Rows		B9*B10
# of Cloves Per Foot** at 6 inch spacing is 2.5		
Cloves Needed		B11*B12
Cloves Per Pound (Variety Dependand - "Refer to Sizing Chart" Sheet)		
→ # Of Pounds you will need APPROXIMATELY		B13/B14 ←

**Dimensions applicable to an acre: 660 by 66 ft** (43,560 sq ft)

The exampeld values entered in the Highlighted Cells are applicable to an acre if planting Size #6  
Porcelain Seed

**\*\*NOTE: PLEASE DO NOT CHANGE VALUES IN CELLS THAT ARE HIGHLIGHTED IN BLUE\*\***  
This will mess up the formulas.

2019  
Canadian

Canadian Garlic  
Pricing by Lb Interval  
And Sizing



**Pricing: Hardneck Garlic**

Size	4		5		6		7		7.5		8	
Lb Vol	Unit Price (lb)	Total Price										
0.5	\$26.58	\$13.29	\$27.92	\$13.96	\$32.44	\$16.22	\$34.02	\$17.01	\$35.18	\$17.59	\$35.76	\$17.88
1	\$19.32	\$19.32	\$20.47	\$20.47	\$24.37	\$24.37	\$25.72	\$25.72	\$26.72	\$26.72	\$27.22	\$27.22
3	\$17.07	\$51.21	\$17.72	\$53.16	\$22.12	\$66.36	\$22.97	\$68.91	\$23.97	\$71.91	\$24.47	\$73.41
5	\$12.52	\$62.60	\$13.17	\$65.85	\$17.57	\$87.85	\$18.42	\$92.10	\$19.42	\$97.10	\$19.92	\$99.60
10	\$10.52	\$105.20	\$12.17	\$121.70	\$15.57	\$155.70	\$16.42	\$164.20	\$16.92	\$169.20	\$17.42	\$174.20
15	\$8.12	\$121.80	\$10.02	\$150.30	\$12.67	\$190.05	\$13.52	\$202.80	\$14.02	\$210.30	\$14.52	\$217.80
30	\$7.37	\$221.10	\$8.77	\$263.10	\$11.17	\$335.10	\$12.02	\$360.60	\$12.52	\$375.60	\$13.02	\$390.60
60	\$6.77	\$406.20	\$7.92	\$475.20	\$10.32	\$619.20	\$10.92	\$655.20	\$11.42	\$685.20	\$11.92	\$715.20
150	\$6.17	\$925.50	\$7.07	\$1,060.50	\$9.22	\$1,383.00	\$9.57	\$1,435.50	\$10.07	\$1,510.50	\$10.57	\$1,585.50
300	\$5.77	\$1,731.00	\$6.42	\$1,926.00	\$8.57	\$2,571.00	\$8.92	\$2,676.00	\$9.42	\$2,826.00	\$9.92	\$2,976.00
500	\$5.37	\$2,685.00	\$5.77	\$2,885.00	\$7.92	\$3,960.00	\$8.27	\$4,135.00	\$8.77	\$4,385.00	\$9.27	\$4,635.00
750	\$4.75	\$3,562.50	\$5.40	\$4,050.00	\$7.55	\$5,662.50	\$7.90	\$5,925.00	\$8.40	\$6,300.00	\$8.90	\$6,675.00
1000+	\$3.87	\$3,870.00	\$5.02	\$5,020.00	\$7.17	\$7,170.00	\$7.52	\$7,520.00	\$8.02	\$8,020.00	\$8.52	\$8,520.00

**Pricing: Elephant Garlic**

2-3ct/LB	Lb Volume	Unit Price (lb)	Total Price	2-3ct/LB
	0.5	\$25.94	\$12.97	
	1	\$19.97	\$19.97	
	3	\$16.97	\$50.91	
	5	\$14.17	\$70.85	
	10	\$12.67	\$126.70	
	30	\$9.27	\$278.10	

2019

Canadian

Pick Up (Freight Not Incl. In Pricing)

Canadian Garlic  
Pricing by Lb Interval  
And Sizing



**Pricing: Hardneck Garlic**

Size	4		5		6		7		7.5		8	
Lb Vol	Unit Price (lb)	Total Price										
0.5	\$16.64	\$8.32	\$17.98	\$8.99	\$22.50	\$11.25	\$24.08	\$12.04	\$25.24	\$12.62	\$25.82	\$12.91
1	\$14.35	\$14.35	\$15.50	\$15.50	\$19.40	\$19.40	\$20.75	\$20.75	\$21.75	\$21.75	\$22.25	\$22.25
3	\$12.10	\$36.30	\$12.75	\$38.25	\$17.15	\$51.45	\$18.00	\$54.00	\$19.00	\$57.00	\$19.50	\$58.50
5	\$9.35	\$46.75	\$10.00	\$50.00	\$14.40	\$72.00	\$15.25	\$76.25	\$16.25	\$81.25	\$16.75	\$83.75
10	\$7.35	\$73.50	\$9.00	\$90.00	\$12.40	\$124.00	\$13.25	\$132.50	\$13.75	\$137.50	\$14.25	\$142.50
15	\$6.35	\$95.25	\$8.25	\$123.75	\$10.90	\$163.50	\$11.75	\$176.25	\$12.25	\$183.75	\$12.75	\$191.25
30	\$6.10	\$183.00	\$7.50	\$225.00	\$9.90	\$297.00	\$10.75	\$322.50	\$11.25	\$337.50	\$11.75	\$352.50
60	\$5.60	\$336.00	\$6.75	\$405.00	\$9.15	\$549.00	\$9.75	\$585.00	\$10.25	\$615.00	\$10.75	\$645.00
150	\$5.35	\$802.50	\$6.25	\$937.50	\$8.40	\$1,260.00	\$8.75	\$1,312.50	\$9.25	\$1,387.50	\$9.75	\$1,462.50
300	\$5.10	\$1,530.00	\$5.75	\$1,725.00	\$7.90	\$2,370.00	\$8.25	\$2,475.00	\$8.75	\$2,625.00	\$9.25	\$2,775.00
500	\$4.85	\$2,425.00	\$5.25	\$2,625.00	\$7.40	\$3,700.00	\$7.75	\$3,875.00	\$8.25	\$4,125.00	\$8.75	\$4,375.00
750	\$4.35	\$3,262.50	\$5.00	\$3,750.00	\$7.15	\$5,362.50	\$7.50	\$5,625.00	\$8.00	\$6,000.00	\$8.50	\$6,375.00
1000+	\$3.60	\$3,600.00	\$4.75	\$4,750.00	\$6.90	\$6,900.00	\$7.25	\$7,250.00	\$7.75	\$7,750.00	\$8.25	\$8,250.00

**Pricing: Elephant Garlic**

2-3ct/LB	Lb Volume	Unit Price (lb)	Total Price	2-3ct/LB
	0.5	\$16.00	\$8.00	
	1	\$15.00	\$15.00	
	3	\$12.00	\$36.00	
	5	\$11.00	\$55.00	
	10	\$9.50	\$95.00	
	30	\$8.00	\$240.00	

*Wisdom From The Garlic Mavens***No. Tip**

- 1 Make sure the cloves are hard and solid. Plant the individual cloves September or early October.
- 2 Garlic likes sun and water.
- 3 If possible plant in a raised bed of about 4 inches to give the bulb uncompacted soil, and to be above standing water should there be excessive rain.
- 4 The cloves should be planted root plate end down, 2 inches deep in well-drained soil, with high organic matter.
- 5 Spacing of 5 inches on at least one-foot rows allows adequate sunshine.
- 6 Plant in lea of windbreaks or mulch. This lessens winterkill by inhibiting prevailing freezing winds.
- 7 One inch of water a week until the scape or flower is harvested, and then no water would be the best scenario. (however, garlic is hearty)
- 8 Harvest the scape or flower 10-14 days after it appears and use it to cook, cook, cook!
- 9 Harvest bulb when plants leaves have died back by 35%. (approx. 3 weeks after scape removal) Bulbs will open if left too long. Dig from ground, hang and cure for at least one-week prior to use.



**BEFORE PURCHASING OUR GARLIC, PLEASE READ THROUGH THE FOLLOWING TERMS OF PURCHASE AND SALE WITH AUGUST'S HARVEST INC.**

We work hard to be proud of the quality of our garlic and to improve every year. Most of our seed begins with virus and disease-free foundation plants, produced at clean seed labs. While roguing the field we monitor and test plants that are not doing well, and as well as random samples. We cannot test every bulb as we would have no crop to sell. None of our tests this year have revealed any Nematode presence.

There are too many variables in the growing process, beyond our control, so we will not be responsible for the results of garlic grown from our seed.

*Standard*

*Detail*

**Upon Receiving Your Order**

1. Please check your shipment immediately
2. If you have any issues or concerns, please contact us within 24-72 hours of receipt.
3. To process a refund, return or credit, your order must be back to us within 10 days.
4. Shipping and handling are non-refundable, at our discretion.
5. All prices are subject to change without notice.
6. Variety and size are subject to availability.

**\*\*\*PLEASE NOTE ON CRACKED GARLIC\*\*\***

We will not be held liable for cracked garlic once it has left our farm. Any damage or problems related to delayed shipping, temperature changes and weather are beyond our control. Should you have a problem with order being received, we strongly recommend rejecting shipment at time of delivery and taking up issue with the carrier delivering.

**By purchasing our garlic, you are agreeing to the terms listed above**



***Give us Feedback!***

If you have a chance to let us know how we did on our service to you as well as the quality of your product received, please take a few moments to fill out our survey online. Your satisfaction and our continuous improvement is of the utmost value to us here at August's Harvest Inc.

***Fun Facts***

Click on the Article Button below to read an interesting article on "The scientific truth about garlic varieties"

***Quick Links to Order Registration******Point of Contacts***

For general orders and inquiries, you can direct your emails and phone calls to:

Tamara Hunt  
Brendan McKenna

Toll Free: 1 (877) 272 1742  
Office: 1 (519) 393 5550

